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Gentlemen, gentlemen.

Ok, that's the second one.

Oh, what do we have here? Tell me what we have here.

An orange and a red

And purples for thirds

And three purples

And light green for fourths.

Ok, right.

And, um, here how | used to figure it out.

Twelfths! Oh no, those are singles

Honestly, Erik, I could imagine if you explained to me what I'm
supposed to imagine.

Ok.

Ok? I'll try real hard, but I’ll try to imagine

Suppose there are twelfths under that.

I can imagine that.

And you took out two of those purples and three light greens

I could imagine

It would take one of those twelfths to fill in the gap between the,
between the um um

See?

Two thirds and three fourths

| see that.

And we came to up here

So Three fourths is bigger than two thirds by one twelfth

And what we came to up here, two thirds and three fourths, it would
be bigger by one twelfth or-

Two twenty-fourths.

Because two of 'em equal up to a red like the orange and the
Why is it a red here and why is it a white here?

Well

Well, because, see each model is different

In what way?

Because this model is bigger than this model

Erik! You could put the reds on that model and make it sixths!
But then it would be- so why would we need sixths on that model?
Oh yeah, you're right. So either it's one twelfth or one twenty-fourths
Two twenty-fourths
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Two twenty-fourths on this one. This is probably the only model that
can get the twenty-fourths cuz you can't, you'd have to halve each
white to get twenty-fourths there.

But what if you get three three, um uh, three oranges together
We tried that already

No we didn't we could get like fiftieths.

You think it would be fiftieths if there would be three oranges?
Well, I don't know exactly but it would be a lot.

Do you still expect that you would get the same answer?

Well, we can divide it.

Looking at this it would not be fiftieths.

Why not?

I'm imagining a this (takes another orange) instead of the purple
there.

Instead of the purple?

It would take another six of those so it would only be thirtieths
I'd like you to try that other model.

Three oranges?

Well whatever you think it is, um, I'd like you find a third model and
I think Dr. Martino said to think big. I'd like you to find a third
model thinking big.

Ok

We could think real big.

And see what you come up if you work on that.

Dr. Martino said the key is think big, so

Well, maybe, we'll see if it works.

So now were gonna think real big!

Yeah, four of 'em

Three, give me three of these. Let me just put these back...

Four of 'em that would be right!

Fiftieths, I told ya.

Four of 'em, make four, then it would be two yellows

Friar tuck, may | have them? I think Friar Tuck'’s going to have to go
around

Two four six eight, there would be eighths

Alan, Friar Tuck's have to go around, ok?

Uh, what do you need?

I'm probably going to need whites.

How many?

Well, it's going to be fiftieths, and we only have twenty-eight.
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9.2.238 Alan: Ok.

9.2.239 Erik: So we're going to need about fifty thousand. We're going for three.

9.2.240 Alan: I think Erik you better go.

9.2.241 Erik: No

9.2.242 Voice: You don't need fifty singles. We trust you on that.

9.2.243 Alan: Ok.

9.2.244 Voice: Because otherwise no one's going to have any.

9.2.245 Alan: Right.

9.2.246 Erik: I know what the thirds are.

9.2.247 Alan: What?

9.2.248 Erik: Oranges

9.2.249 Alan: Oranges?

9.2.250 Jessica:  Are you figuring out the big one again?

9.2.251 Erik: No

9.2.252 Alan: No, we're trying to...

9.2.253 Erik: Three oranges.

9.2.254 Alan Erik, use the yellows. Think big.

9.2.255 T/IR 1: A suggestion | have, Alan and Erik, if you can find another table
who's solving the same problem then maybe you can combine

9.2.256 Erik: Well, we need a lot more Cuisenaire Rods. Well, let's work with
three and then we'll do four.

9.2.257 Alan: Right.

9.2.258 Erik: Ok, what would be the thirds. Thirds would easily be the oranges.
One two three.

9.2.259 T/IR 1: Well, just build your big model and we could use Meredith and

David's smaller model. And then you could come together to put all
your models together.

9.2.260 Alan: And then show them on the overhead?

9.2.261 TR 1: Yes.

9.2.262 Alan: Ok.

9.2.263 T/IR 1: So work on the big model. See what you can do.

9.2.264 Alan: Erik,

9.2.265 Erik: we need oranges. [to next group] Do you have three oranges we can
borrow?

9.2.266 TR 1: Here

9.2.267 Erik: Oh, good. I'll just pour them into the little - Ah!

9.2.268 Alan: Ok,

9.2.269 Erik: Now we need,

9.2.270 Alan: Ok, perfect! There are thirds
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Right, now fourths, would be two smaller than an orange, a brown,
no, yeah! Three, no that's too big. Two smaller, what's two smaller
than a brown. Not a black, but a yellow, no, not a yellow

Yes,

No

A dark green - look it look it for your answer.

The dark green would be the fourths?

Mmm hmmm. Believe it or not, they are. They might be the fifths.
They're the fifths. Then what would be the-

Blues would be the

This would only be thirty. This would only be thirty because ten
twenty thirty.

Thirty plus twelve. Forty-two

Wait a minute. Since we got these two packs, couldn't we have,
Alan, couldn't we have like, um, Alan, couldn't we have, ten twenty
thirty forty fifty sixty, wait, ten twenty thirty forty fifty sixty seventy
if we all put them

Erik, those aren't tens, those are twelves

Yeah those are tens.

You know what tens are? The browns.

Look at this.

Prove it.

Look at this

Put ten up to that.

Ok.

Ten. Put ten. Put ten up to that. [Erik does so] Maybe it is ten. Ok,
ten twenty thirty forty fifty, it would have to be ten,

Ten twenty thirty forty fifty sixty seventy

Here we go again.

Let's just start with thirty.

Yeah, let's eliminate two of the tens.

Ok, what would be the fourths?

Fourths of that

Brown could be in here somewhere

Nope, nnnnope

Blues

Nope. Too big. Eeew! Erik, wipe those rods off immediately. Erik,
you're thinking. Hold it...

Blacks
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Blacks blacks blacks blacks, right right right, go go go go go. Yup,
told you. They're one short. Oh

Four long? No. Hah. Alan. Whoops, never mind, that's a five. We
didn't forget how to make a big one. We're just experimenting.
Perfect! Now just do that, one two three, [noise] No, one larger than
this would be the [noise. Erik has built a model of three oranges and
a dark green] I got the fourths.

Now make the thirds.

Ok, what if we did this? I bet | could make the thirds

I think uh, yo, Erik, I think we were just tipped. Erik, come here, go
go go. Go go. Alright.

Bigger than a dark green, well, how much bigger do I need it then,
how much bigger can it get?

Erik, hold it, the thirds.

I am trying to do something.

Thirds thirds thirds. Wait a second, three oranges would have to be
the thirds.

What? What?

[looking at model that Jessica and Andrew built] That would be two
oranges and a yellow. Two oranges and a purple

We already did that.

How are you gentlemen doing, did you get another new model?
Yeah

Not exactly, actually. You see

You might want to study, you might want to study Andrew's model
to see what you have to do to make it bigger.

Well, that's the exact same thing we did. We did two oranges and a
purple.

Yeah, but | want you to make one bigger than his.

We're trying, but we can only divide it into one two three four fi-
fifths. | can divide it into thirds, but I can't divide it into fourths.
Well, maybe you gotta make it bigger. See my problem? This is a
good challenge for you two. Study that, yeah.

Those are twelfths.

Make six of those and it would be ten greens.

We want thirds and fourths, not tens.

I wonder if Meredith and David made any progress. Meredith and
David [walks away]
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Thirds. Erik, there's one prob. Using oranges, you can't third. You
can't third, look, even if you subtracted two you couldn't third that.
Because orange is twelve, there's five.

Oranges are tens!

I know, tens, you can make it into fourths but you couldn't third it.
Wait you gave me, oh no.

You just gave up

Yup.

Hold on a sec, look, look, you take that off, you could use that
That's way too big, Andrew, | don't think you can divide it into
anything

Yeah, if you make two browns, two blues are thirds. If you can make
a train for a whole you can make a train for a third and a fourth.
Ohhh!

[taken from other view, but can be heard partially here] That's very
interesting. That's an interesting theory. Why don't you test the
theory with Michael and Alan, I think they would like to hear this
theory. Would you like to hear - | think David has a theory - why
don't you come over here. They have an interesting -

So do they have a theory.




